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3  صفحة  زبان منحصراً اختصاصي     فروردين 7 آزمون- »6« پروژة

Part A: Grammar
Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

81- At this time yesterday, two of your old friends … at the door to see you, but after finding out that
you weren’t home, they got in their cars and left.

1) had stood 2) were standing 3) stood 4) had been standing
82- My heart goes out to Jessica because she is so badly off that she can’t go on a foreign trip or even

get a compact car for …  after years of hard work.
1) herself 2) her own 3) her 4) by herself

83- Nowadays, many young people can’t make a living and aren’t independent …  their families. They
expect their parents to provide them with food, money, and housing.

1) on 2) from 3) of 4) in
84- In the past, a large number of newborn daughters … to be shameful and their families used to

bury them alive.
1) considered 2) were considered
3) had considered 4) have been considered

85- We are praised as a generous family since the youngest of my brothers … four million dollars so
far to the charity which helps homeless people.

1) donated 2) have donated 3) has donated 4) had donated
86- To show the new soldiers how to take a rifle apart and put it together again, the instructors go

through the whole process … .
1) themselves 2) they themselves 3) itself 4) it itself

87- The police … intentional, although they don’t know why someone purposely burned down the
library.

1) believe the fire is 2) believe the fire was
3) believes the fire is 4) believes the fire was

88- Think of a friend who has moved away but … you have stayed in touch. In what ways do the two of
you communicate?

1) whom 2) who 3) with whom 4) with who
89- … the peace and quiet he needed to finish his book, the writer moved to a cabin where there were

no people, no cars, and not even a telephone.
1) Having 2) In order to have 3) Because 4) So as to having

90- If you feel strongly about a public issue, don’t hesitate to write to your representative in Congress;
remember that he or she … to speak for you.

1) elects 2) had elected 3) had been elected 4) is elected
Part B: Vocabulary
Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

91- I find it very hard to relax. Sometimes I lie awake all night long worrying about things. Actually, I
feel … .

1) selfish 2) sensible 3) stubborn 4) anxious
92- She was one of the most … students I have ever known. She didn’t obey any rules at school and

was a very difficult teenager to manage.
1) lethargic 2) dynamic 3) rebellious 4) patient

زبان تخصصي سؤال دفترچةدردرسهرشروعازقبلگذاريهدفدقيقه 105
  بنويسيد: را خود 10 از چند گذاري هدف ،منحصراً زبان درس هاي سؤال به گويي پاسخ شروع از قبل لطفاً

  بدهيد؟ صحيح پاسخ توانيد مي سؤال چند به سؤال 10 هر از
  است؟بوده10ازچندقبلآزموندرشماعملكرد
 چيست؟امروزآزمونبرايشماگذاريهدف

  امروز آزمون براي 10ازچندگذاريهدف قبلآزمون10ازچند
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93- If you ask me about my colleague, Reza, I’ll say he is a/an … person. He once said to me he wants
to be the manager of a big multinational company.

1) ambitious 2) independent 3) honest 4) friendly
94- … children are rude and behave badly because they are given everything they want.

1) Sociable 2) Spoiled 3) Insecure 4) Mature
95- Eating habits are becoming healthier, according to the results of a government … .

1) scientist 2) measure 3) morale 4) survey
96- It is argued that telecommunication has a significant social, cultural and economic … on modern

society.
1) crisis 2) impact 3) factor 4) policy

97- During the sixth generation era, the handheld game console market … with the introduction of
new devices from many different manufacturers.

1) shared 2) compiled 3) regarded 4) expanded
98- It must be nice having someone who sticks around even when times get … and you are feeling

down.
1) crucial 2) tough 3) brief 4) extra

99- He was guided by the belief that developing work … was imperative for promoting skills such as
cooperation, communication, and problem solving.

1) ethics 2) miracles 3) margins 4) situations
100- After all, I speculate that she only takes your … because she sees you as a kind-hearted person.

1) host 2) palm 3) step 4) side
101- In my opinion, the lecture delivered by Dr. James was really … and difficult to follow.

1) significant 2) lucrative 3) complicated 4) harmonious
102- The links between terrorism and other forms of crime, especially organized ones, are not always …

obvious.
1) immediately 2) gradually 3) namely 4) originally

103- Values are … as transmitting a set of common ideas to all family members is becoming increasingly
difficult.

1) separated 2) capable 3) popular 4) endangered
104- The famous medical researcher believes that a serious need exists to bridge the gap between theory

and … in nursing.
1) volume 2) benefit 3) practice 4) attitude

105- Remember that … is better than cure, so brush your teeth at least twice a day and visit your
dentist for regular check-ups.

1) prevention 2) prediction 3) introduction 4) definition
Part C: Sentence Structure 
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice 
on your answer sheet.
106-    

1) He was such disappointed with the company’s culture to offer his resignation after only three weeks.
2) He was so disappointed with the company’s culture to offer his resignation only after three weeks.
3) He was so disappointed with the company’s culture that he offered his resignation after only three

weeks.
4) He was such disappointed with the company’s culture that he offered his resignation only after three

weeks.
107-  

1) The rain was intermittent, fell heavily one minute and then ease up for a few minutes and even stopped
altogether.

2) The rain was intermittent, fell heavily one minute and then ease up for a little minutes and even
stopping altogether.

3) The rain was intermittent, falling heavily one minute and then easing up for a little minutes and even
stopped altogether.

4) The rain was intermittent, falling heavily one minute and then easing up for a few minutes and even
stopping altogether.
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108-  
1) The Mexican government became oppressively the moment citizens began demanded more freedom,

after years of relatively beneficence.
2) After years of relative beneficence, the Mexican government became oppressive the moment citizens

began to demand more freedom.
3) At the moment citizens began to demand more freedom, after years of relative beneficence, the

Mexican government became oppressively.
4) Citizens began demanded more freedom, after years of relatively beneficence, and the Mexican

government became oppressive at that moment.
109-  

1) The amount of sleep one receives each night affects one’s productivity the following day.
2) The amount of sleep that one receives each nights affects one’s productive the following day.
3) The amount of sleep one receives each nights affect one’s productive the following day.
4) The amount of sleep that one receives each night affect one’s productivity the following day.

110-  
1) During class, the two students chatted incessantly, although the teacher has moved them to opposite

sides of the classroom.
2) The two students chatted incessantly during class, even after the teacher had moved them to opposite

sides of the classroom.
3) Even after the teacher has moved them to opposite sides of the classroom, the two of students chatted

incessantly during class.
4) Moving them to opposite sides of the classroom by the teacher, the two of students had been chatted

incessantly during class.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by 
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

A: Nicole, do you know why Sara had a frown on her face last night and didn’t …(111)… at all ? 
B: Well, she hasn’t been on speaking terms with Elina for over two years. So, I think that’s why she 

didn’t enjoy herself. 
A: Oh! Sorry to hear that! But, I think they should forgive each other and …(112)…, shouldn’t they? 
B: …(113)… ! Sara will never budge an inch. She’s like that.  

111- 1) ring a bell 2) join the party
3) shell out 4) fool around

112- 1) look up 2) break up
3) show up 4) make up

113- 1) When hell freezes over 2) First come, first served
3) Every cloud has a silver lining  4) The tail is wagging the dog
A: Hey Mina! Long time no see! How are things? What have you been up to?
B: Hey Rob! Today, I took my last test, and I’m …(114)… .
A: How come? I guess it was a chemistry test, right?
B: You hit the nail on the head! It was …(115)… . Some terribly difficult questions had come up that

even the bookworms were all at sea and couldn’t solve them.  
114- 1) all thumbs 2) down to earth

3) sick as a parrot 4) big headed
115- 1) heavy going 2) fair and square

3) all the rage 4) second to none
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A: Hurry up Ron, we’re …(116)… late. Grandma’s already waiting. 
B: Give me a moment, I’ve not …(117)… my hair yet. 

116- 1) making 2) running 3) turning 4) having
117- 1) gotten      2) taken                                3) done 4) paid

A: Would you like to increase the extent of your educational and historical background?
B: I don’t think I got your point …(118)… .
A: I just took my final exam in history this morning, and I’m trying to …(119)… the books. You can

have them for eighty dollars.
B: I don’t think I’ll need them, but why don’t you try to …(120)… to the bookstore instead?

118- 1) all over 2) all in all
3) and all 4) at all

119- 1) get out of 2) get rid of
3) run out of 4) bump into

120- 1) give them up 2) throw them away
3) take them in 4) take them back

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the 
correct choice on your answer sheet. 

Insects’ lives are very short and they have many enemies, …(121)… they must survive long enough to 
breed and perpetuate their kind. The …(122)… insect-like they look, the better their chance of 
survival. To look inedible by resembling or imitating plants is a deception …(123)… by insects. 
Mammals …(124)… use this type of camouflage, but many invertebrates do. 
    The stick caterpillar is well named. It is hardly …(125)… from a brown or green twig. This 
caterpillar is quite common and can …(126)… almost anywhere in North America. It is also called 
“measuring worm” or “inchworm.” It walks by arching its body, then stretching out and grasping 
the branch with its front feet, then looping its body again …(127)… the hind feet forward. When 
danger …(128)…, the stick caterpillar stretches its body away from the branch at an angle and 
remains rigid and still, like a twig, until the danger has passed. 
    Walking sticks, or stick insects, do not have to …(129)… a rigid, twig-like pose to find protection; 
they look like inedible twigs in any position. There are many kinds of walking sticks, ranging in size 
from the few inches of the North American variety …(130)… some tropical species that may be over 
a foot long. When at rest, their front legs are stretched out, …(131)… . Some of the tropical species 
are adorned with spines or ridges, imitating the thorny bushes or trees …(132)… they live. Leaves 
also seem to be a favorite …(133)… for insects to imitate. Many butterflies can suddenly …(134)… 
from view by folding their wings and sitting quietly among the foliage that …(135)… . 

121- 1) for 2) but 3) so 4) or
122- 1) less 2) least 3) little 4) most
123- 1) practicing 2) is practiced 3) which practiced 4) practiced
124- 1) rarely 2) widely 3) constantly 4) suddenly
125- 1) negligible 2) plausible 3) distinguishable 4) portable
126- 1) found 2) be found 3) be founded 4) find
127- 1) to bringing 2) and bring 3) to bring 4) bringing
128- 1) converts 2) consumes 3) reduces 4) threatens
129- 1) increase 2) permeate 3) illustrate 4) assume
130- 1) to 2) with 3) in 4) on
131- 1) their camouflage heightens 2) heightening their camouflage

3) their heightening camouflage 4) camouflage their height
132- 1) in which 2) which 3) what 4) that
133- 1) situation 2) ambit 3) object 4) prey
134- 1) learn 2) disappear 3) enjoy 4) escape
135- 1) had resembled 2) resembles 3) resembled 4) they resemble
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Part F: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by some questions. Answer the 
questions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your 
answer sheet. 

PASSAGE 1: 
By the mid-nineteenth century, the term “icebox” had entered the American language, but ice was 
still only beginning to affect the diet of ordinary citizens in the United States. The ice trade grew with 
the growth of cities. Ice was used in hotels, taverns, hospitals, and by some forward-looking city 
dealers in fresh meat, fresh fish, and butter. After the Civil War (1861-1865), as ice was used to 
refrigerate freight cars, it also came into household use. Even before 1880, half the ice sold in New 
York, Philadelphia, and Baltimore, and one-third of that sold in Boston and Chicago, went to 
families for their own use. This had become possible because a new household convenience, the 
icebox, a precursor of the modern refrigerator, had been invented. 
    Making an efficient icebox was not as easy as we might now suppose. In the early nineteenth 
century, the knowledge of the physics of heat, which was essential to the science of refrigeration, was 
rudimentary. The commonsense notion that the best icebox was one that prevented the ice from 
melting was mistaken, for it was the melting of the ice that performed the cooling. Nevertheless, early 
efforts to economize ice included wrapping the ice in blankets, which kept from doing its job. Not 
until near the end of the nineteenth century did inventors achieve the delicate balance of insulation 
and circulation needed for an efficient icebox. 
    But as early as 1803, an ingenious Maryland farmer, Thomas Moore, had been on the right track. 
He owned a farm about twenty miles outside the city of Washington, for which the village of 
Georgetown was the market center. When he used an icebox of his own design to transport his butter 
to market, he found that customers would pass up the rapidly melting stuff in the tubs of his 
competitors to pay a premium price for his butter, still fresh and hard in neat, one-pound bricks. 
One advantage of his icebox, Moore explained, was that farmers would no longer have to travel to 
market at night in order to keep their produce cool. 

136- What does the passage mainly discuss?
1) The influence of ice on the diet
2) The development of refrigeration
3) The transportation of goods to market
4) Sources of ice in the nineteenth century

137- According to the passage, when did the word “icebox” become part of the language of the United
States?

1) In 1803 2) Sometime before 1850
3) During the Civil War 4) Near the end of nineteenth century

138- The author mentions fish in paragraph 1 because … .
1) many fish dealers also sold ice
2) fish was shipped in refrigerated freight cars
3) fish dealers were among the early commercial users of ice
4) fish was not part of the ordinary person’s diet before the invention of the icebox

139- The word “it” in paragraph 1 refers to … .
1) fresh meat 2) the Civil War
3) ice 4) a refrigerator

140- According to the passage, which of the following was an obstacle to the development of the icebox?
1) Competitions among the owners of refrigerated freight cars
2) The lack of a network for the distribution of ice
3) The use of insufficient insulation
4) Inadequate understanding of physics

141- The phrase “rudimentary” in paragraph 2 is closest in meaning to … .
1) growing 2) undeveloped
3) necessary 4) uninteresting

142- According to the information in the second paragraph, an ideal icebox would … .
1) completely prevent ice from melting
2) stop air from circulating
3) allow ice to melt slowly
4) use blankets to conserve ice
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143- The author describes Thomas Moore as having been “on the right track” to indicate that … .
1) the road to the market passed close to Moore’s farm
2) Moore was an honest merchant
3) Moore was a prosperous farmer
4) Moore’s design was fairly successful

144- According to the passage, Moore’s icebox allowed him to … .
1) charge more for his butter
2) travel to market at night
3) manufacture butter more quickly
4) produce ice all year round
PASSAGE 2:

The history of clinical nutrition, or the study of the relationship between health and how the body
takes in and uses food substances, can be divided into four distinct eras: the first began in the
nineteenth century and extended into the early twentieth century when it was recognized for the first
time that food contained constituents that were essential for human function and that different foods
provided different amounts of these essential agents. Near the end of this era, research studies
demonstrated that rapid weight loss was associated with nitrogen imbalance and could only be
rectified by providing adequate dietary protein associated with certain foods.
    The second era began in the early decades of the twentieth century and might be called “the 
vitamin period.” Vitamins came to be recognized in foods, and deficiency syndromes were described. 
As vitamins became recognized as essential food constituents necessary for health, it became 
tempting to suggest that every disease and condition for which there had been no previous effective 
treatment might be responsive to vitamin therapy. At that point in time, medical schools started to 
become more interested in having their curricula integrate nutritional concepts into the basic 
sciences. Much of the focus of this education was on the recognition of vitamin deficiency symptoms. 
Herein lay the beginning of what finally turned from ignorance to denial of the value of nutritional 
therapies in medicine. Reckless claims were made for effects of vitamins that went far beyond what 
could actually be achieved from the use of them. 
    In the third era of nutritional history in the early 1950s to mid-1960s, vitamin therapy began to fall 
into disrepute. Related to this, nutrition education in medical schools also became less popular. It was 
just a decade before this that many drug companies had found their vitamin sales rapidly increasing 
and were quick to supply practicing physicians with generous samples of vitamins and literature 
praising the virtue of supplementation for a variety of health-related conditions. Expectations as to the 
success of vitamins in disease control were exaggerated. As is known in retrospect, vitamin and mineral 
therapies are much less effective when applied to health-crisis conditions than when applied to long-
term problems of malnutrition that lead to chronic health problems. 

145- What does the passage mainly discuss?
1) The effects of vitamins on the human body
2) The history of food preferences from the nineteenth century to the present
3) The stages of development of clinical nutrition as a field of study
4) Nutritional practices of the nineteenth century

146- It can be inferred from the passage that medical schools began to teach concepts of nutrition in
order to … .

1) convince doctors to participate in research studies on nutrition
2) encourage doctors to apply concepts of nutrition in the treatment of disease
3) convince doctors to conduct experimental vitamin therapies on their patients
4) support the creation of artificial vitamins

147- The word “tempting” in paragraph 2 is closest in meaning to … .
1) necessary 2) attractive 3) realistic 4) correct

148- The pronoun “them” in paragraph 2 refers to … .
1) therapies 2) claims 3) effects 4) vitamins

149- Why did vitamin therapy begin losing favor in the 1950s?
1) The public lost interest in vitamins.
2) Medical schools stopped teaching nutritional concepts.
3) Nutritional research was of poor quality.
4) Claims for the effectiveness of vitamin therapy were seen to be exaggerated.

150- The paragraph following the passage most probably discusses ... .
1) problems associated with undernutrition
2) the fourth era of nutrition history
3) why nutrition education lost its appeal
4) how drug companies became successful
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  )آرمين رحماني(  »2« ةگزين -81
  نكتة مهم درسي:

تنها زمـان  ،  ”At this time yesterday“با توجه به مفهوم جمله و قيد زمان 

  درستي پر كند. تواند جاي خالي را به ميگذشتة استمراري 

 (گرامر)

----------------------------------------------  

  )آرمين رحماني(  »1«گزينة -82
  نكتة مهم درسي:

يكسان هستند، پس نياز بـه  » خريدن«ي معنا به ”get“فاعل و مفعول براي فعل 

  داريم. ضمير انعكاسي

 (گرامر)

----------------------------------------------  

 )آرمين رحماني(  »   3«گزينة -83

  نكتة مهم درسي:

  به دو تركيب مهم زير توجه كنيد:

“Dependent + on”  

“Independent + of”    
 (گرامر)

----------------------------------------------  

 )آرمين رحماني(  »  2«گزينة -84

  نكتة مهم درسي:

توانيم از فعـل معلـوم اسـتفاده     ميبنابراين ن ،بعد از جاي خالي مفعول وجود ندارد

عمـل در گذشـته   شـروع و پايـان    ،. از سوي ديگر)»3و  1« هاي بكنيم (رد گزينه

 (رد توان از زمان حال كامـل اسـتفاده كـرد    پس نمي ،دثيري در حال ندارأبوده و ت

  .)»4«گزينة 

 (گرامر)

----------------------------------------------  

 )زاده عطا عبدل(  »3«گزينة  -85

  نكتة مهم درسي:

تاكنون ادامـه   دارد كه ، فعل جمله دلالت بر حال كامل”so far“ با توجه به عبارت

دوم دلالـت بـر يكـي از     ةفاعـل جمل ـ ). »4و  1« هـاي  گزينـه رد (پيدا كرده است 

گزينـة  را انتخـاب كنـيم (رد   مفـرد  پس بايد فعل سوم شـخص   ،برادران من دارد

  باشد. مي »كه چون«ي معنا بهجمله در اين   ”since“). دقت كنيد كه»2«

 (گرامر)

----------------------------------------------  

  )محمد طاهري(  »1«گزينة  -86
  نكتة مهم درسي:

كار رفته است كـه در ايـن    در نقش تأكيدي به ”themselves“جا ضمير  در اين
توانند در انتهاي جمله بيايند. ضمير انعكاسـي متناسـب بـا     مياين ضماير  ،صورت

“instructors” ًمشخصا “themselves” .است  
 (گرامر)

----------------------------------------------  

  )محمد طاهري(  »2«گزينة  -87
  نكتة مهم درسي:

گيـرد   ميسوم شخص ن ”s“رود و  ميكار  با فعل جمع به ”police“اسم جمع 
 جملـه فعـل   ةكـه در ادام ـ  ). از طرفي، با توجه بـه ايـن  »4و  3«ي ها گزينه(رد 

“burned down”  سـوزي،  شـود كـه زمـان وقـوع آتـش      ميآمده است، مشخص 
  .)»1« گزينةگذشته است (رد 

 (گرامر)
----------------------------------------------  

  )محمد طاهري(  »3«گزينة  -88
  نكتة مهم درسي:

كـار   ، فعل به”who“بعد از جاي خالي ضمير فاعلي داريم. بعد از ضمير موصولي 
ير بـوده  شكل ز ). جمله در اصل به»4و  2«ي ها گزينهفاعلي (رد  ضميرنه  ،رود مي

  است:
“Think of a friend who has moved away, but you have stayed 
in touch with him/her.” 

قبل از ضمير موصولي استفاده شـود. دقـت    ”with“ ةبايد از حرف اضاف ،بنابراين
فـوق فقـط    ة، از جمل”whom“داشته باشيد كه براي استفاده از ضمير موصولي 

جـاي   توان به مينه حروف اضافه. البته  ،شود ميحذف  ضمير مفعولي انتهاي جمله
“whom”  از“who” اما نه در مواقعي كه قبـل از   ،نيز استفاده كرد“whom” 

  كار رفته باشد. حرف اضافه به
 (گرامر)

----------------------------------------------  

  )محمد طاهري(  »2«گزينة  -89
  نكتة مهم درسي:

منظور داشـتن آرامشـي كـه بـراي بـه اتمـام رسـاندن         مله (بهبا توجه به مفهوم ج
 داريـم كتابش نياز داشت ....)، در ابتداي جمله، به حروف ربط هدف و منظور نيـاز  

كـار   ، بايد فعل سـاده بـه  ”so as to“). بعد از حرف ربط »3و  1«ي ها گزينه(رد 
  ).»4« گزينةرود (رد 

 (گرامر)
----------------------------------------------  

  )محمد طاهري(  »4«گزينة  -90
  نكتة مهم درسي:

آخر بيانگر يك حقيقت هميشگي و كلي است كه در اين مورد بايد از زمـان   ةجمل
). از طرفي، جملـه فاعـل نـدارد و    »3و  2« يها گزينهحال ساده استفاده شود (رد 

  ). »1« گزينةمجهول است (رد 
 (گرامر)

----------------------------------------------  

 زبان تخصصي
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  )سيدمصطفي حسيني(  »4«گزينة  -91
در  هـا  استراحت كردن براي من سخت است. گاهي اوقـات سـاعت  «ترجمة جمله: 

  »من مضطرب هستم. ،واقع هستم. در امورو نگران مانم  ميشب بيدار طول 

  ) منطقي2  ) خودخواه1

  ، مشوشمضطرب )4  ) لجوج3

 )واژگان(

----------------------------------------------  

  )سيدمصطفي حسيني(  »3«گزينة  -92
شـناختم. در   مـي آمـوزاني بـود كـه     تـرين دانـش   او يكي از سركش«ترجمة جمله: 

نوجواني بـود كـه كنتـرلش بسـيار     و  كرد مييك از قوانين اطاعت ن مدرسه از هيچ

  »سخت بود.

  ي) پويا، پرانرژ2  حال ) سست، بي1

  ) صبور4  ) سركش، ياغي3

 )واژگان(

----------------------------------------------  

  )سيدمصطفي حسيني(  »1«گزينة  -93
طلـب و   گويم كـه او جـاه   مي ،همكارم رضا بپرسي ةاگر از من دربار«ترجمة جمله: 

خواهـد مـدير يـك شـركت چنـدمليتي       ميبار به من گفت  بلندهمت است. او يك

  »شود.

  ) مستقل2  طلب ) بلندپرواز، جاه1

  ) صميمي4  روراست) صادق، 3

 )واژگان(

----------------------------------------------  

  )سيدمصطفي حسيني(  »2«گزينة  -94
چون هرچيزي  ،كنند ميكودكان لوس، گستاخ هستند و بدرفتاري «ترجمة جمله: 

  .»شود ميبرايشان فراهم  خواهند ميكه 

  ) لوس2  ) اجتماعي1

  ) بالغ4  ) ناايمن3

 )واژگان(

----------------------------------------------  

  )سيدمصطفي حسيني(  »4«گزينة  -95
دولتـي، عـادات غـذايي در حـال      نظرسـنجي نتـايج يـك    براساس«ترجمة جمله: 

  »تر شدن هستند. سالم

  ) مقياس، اندازه2  ) دانشمند1

  ، نظرسنجي) تحقيق4  ) روحيه3

 )واژگان(

----------------------------------------------  

 )سعيد كاوياني(  »2«گزينة  -96

دور تـأثير اجتمـاعي، فرهنگـي و     شود كه ارتباطات راه مياستدلال «ترجمة جمله: 
 .»مدرن دارد ةتوجهي بر جامع اقتصادي قابل

  ثيرأ) ت2  ) بحران1
  ) سياست4  ) عامل3

 )واژگان(
----------------------------------------------  

  )سعيد كاوياني(  »4«گزينة  -97
ي بازي دستي با معرفي ها در طول دوران نسل ششم، بازار كنسول«ترجمة جمله: 

  »ت.ي جديد از بسياري از توليدكنندگان مختلف گسترش يافها دستگاه
  ) گردآوري كردن2  ) اشتراك گذاشتن1
  ) گسترش يافتن4  حساب آوردن به) 3

 )واژگان(
----------------------------------------------  

  )سعيد كاوياني(  »2«ة گزين -98
شـود و   كه شرايط سخت مي كه حتي زمانيحس خوبي است قطعاً «ترجمة جمله: 

  .»كنارتان باشدباشيد كه  را داشتهكسي كنيد،  احساس ناراحتي مي
  ) سخت2  ) ضروري1
  ) اضافه4  ) خلاصه3

 )واژگان(
----------------------------------------------  

  )يانيسعيد كاو(  »1«گزينة  -99
اخلاق كـاري بـراي ارتقـاي     ةشد كه توسع ميو با اين باور هدايت ا«ترجمة جمله: 

  ».مسئله ضروري است يي مانند همكاري، ارتباط و حلها مهارت
  ه) معجز2  اخلاقي  ) اصول1
   ) موقعيت4  حاشيه، فاصله) 3

 )واژگان(
----------------------------------------------  

 )كاوياني سعيد(  »4«گزينة  - 100

گيرد  ميطرف تو را تنها دليلي كه او زنم  مياز اين گذشته، حدس «ترجمة جمله: 
  .»داند قلبي مي را آدم خوش اين است كه تو

  كف دست) 2  ميزبان) 1
  طرف) 4  گام) 3

 )واژگان(
----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  - 101
دكتر جيمز بسـيار پيچيـده و غيرقابـل فهـم      نظر من، سخنراني هب«ترجمة جمله: 

  .»بود
  پرسود و منفعت) 2  توجه قابل) 1
  هماهنگ) 4  ) پيچيده3

 )واژگان(
----------------------------------------------  
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  )سعيد كاوياني(  »1«گزينة  - 102
ت ويـژه جنايـا   پيونـد بـين تروريسـم و سـاير اشـكال جنايـت، بـه       «ترجمة جمله: 

  .»راحتي آشكار و واضح نيست يافته، هميشه به سازمان

  طور تدريجي ) به2  ) فوراً، بلافاصله1

  اصل در) 4  نام ه) يعني، ب3

 )واژگان(

----------------------------------------------  

 )فريبا طاهري(    »4« گزينة - 103

 ةبـه هم ـ  ي مشـترك هـا  در شرايطي كه انتقال يك سـري از ايـده  «: ة جملهترجم

هـا در معـرض خطـر قـرار      شود، ارزش سخت مي اي طور فزاينده بهاعضاي خانواده 

   ».گيرند مي

  مستعد، توانا ) 2  جدا) مجزا، 1

 معرض خطر  در )4  محبوب) 3

 )واژگان(

----------------------------------------------  

 )فريبا طاهري(    »3«ة گزين - 104

اور است كه يـك نيـاز جـدي بـراي     محقق پزشكي مشهور بر اين ب« ة جمله:ترجم

 »و عمل در علم پرستاري وجود دارد.ميان تئوري ارتباط 

  منفعت، سود) 2  حجم، اندازه) 1

  نگرش، رويكرد )4  عمل، تمرين) 3

 )واژگان(

----------------------------------------------  

 )فريبا طاهري(  »1«ة گزين  - 105

يشگيري بهتر از درمان اسـت، بنـابراين   خاطر داشته باشيد كه پ هب«: ترجمة جمله

بـه  م مـنظ  معاينـة هاي خـود را مسـواك بزنيـد و بـراي      روزانه حداقل دوبار دندان

 .»پزشك خود مراجعه كنيد دندان

  پيشگويي  ) 2  ) پيشگيري1

  تعريف    )4  مقدمه) 3

 )واژگان(

----------------------------------------------  

  )روش عقيل محمدي(  »3«گزينة  - 106
  نكتة مهم درسي:

). همـراه  »4و  1«ي هـا  گزينـه آيـد (رد   مـي   ميقبل از عبارت اس ـ ”such“ ةكلم

“such/so”  از“that”  2و  1«ي ها گزينهشود (رد  مياستفاده«.(  

 )ترتيب اجزاي جمله(

----------------------------------------------  

  )روش عقيل محمدي(  »4« گزينة - 107
  نكتة مهم درسي:

زمان با امر ديگـري در حـال اتفـاق افتـادن      كه امري هم راي نشان دادن اينب

). »2و  1«ي هـا  گزينـه كنيم (رد  مياستفاده  ”verb+ing“از ساختار  ،است

شمارش است،  كه يك اسم قابل ”minutes“ ةبراي كلم ”a little“ كار بردن هب

  ). »3« گزينةاشتباه است (رد 

 )ترتيب اجزاي جمله(

----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة   - 108
  نكتة مهم درسي:

). بعـد  »3و  1«ي ها گزينهشود (رد  مياز صفت استفاده   ”become“بعد از فعل

و 1«ي هـا  گزينـه آيد (رد  مي ”to“صورت مصدر با  هفعل دوم ب ،”begin“از فعل 

  رعايت شده است. درستي به »2« گزينةر ). از طرف ديگر، ساختار جمله تنها د»4

 )ترتيب اجزاي جمله(

----------------------------------------------  

  )روش عقيل محمدي(  »1«گزينة  - 109
  نكتة مهم درسي:

 چـون فاعـل جملـه    ،سوم شخص مفرد بگيـرد  ”s“بايد  ”affect“فعل 

)the amount of sleepبعــد از  ).»4و  3«ي هــا گزينــه(رد  ) مفــرد اســت

“each” 3و  2«ي ها گزينهآيد (رد  ميصورت مفرد  هاسم ب«.(  

 )ترتيب اجزاي جمله(

----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة  - 110
  نكتة مهم درسي:

كار بردن زمان حال كامل بـراي   هو زمان جمله كه گذشته است، ب معنا  بهبا توجه 

كـه   مي). بـين عـدد و اس ـ  »3و  1«ي هـا  گزينهحيح نيست (رد ص ”move“فعل 

). از طـرف  »4و  3«ي هـا  گزينـه شـود (رد   مياستفاده ن ”of“آيد از  ميهمراه آن 

  رعايت شده است. »2« گزينةديگر، ساختار صحيح جمله تنها در 

 )ترتيب اجزاي جمله(

----------------------------------------------  

  )آرمين رحماني(  »  2« گزينة - 111

  نظر رسيدن   ) آشنا به1

  وبش كردن  ي ديگر خوشها در يك مهماني) با مهمان ) (معمولا2ً

  ) پرداخت كردن  3

  ) وقت هدر دادن  4

 )مكالمه(   

----------------------------------------------  
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 )آرمين رحماني(  »  4« گزينة - 112

  شدن ، جدا) قهر كردن2   جو كردنو ، جست) بهتر شدن1

  ) آشتي كردن  4  ) رسيدن3

 )مكالمه(                                                 

----------------------------------------------  

 )آرمين رحماني(  »1« گزينة - 113

  حاله ، مو ابداً ) اصلا1ً

  نوبت   ) آسياب به2

  سيه سپيد است در نوميدي بسي اميد است، پايان شب) 3

  دنيا وارونه شده ) كار4

 )مكالمه(                  

----------------------------------------------  

 )آرمين رحماني(  »    3« گزينة - 114

  ) دست و پا چلفتي1

    گرا ، واقع) اهل عمل، كاربردي2

  بسيار نااميد و دلسرد) 3

  ) مغرور و خودخواه 4

 )مكالمه(   

----------------------------------------------  

 )آرمين رحماني(  »  1« گزينة - 115

  ) سخت و چالشي1

  ) جوانمردانه، عادلانه و صادقانه   2

  در يك دورة خاص ) خيلي محبوب و رايج3

  نظير، عالي  ) بي4

 )مكالمه(

----------------------------------------------  

 )عبدالرشيد شفيعي(  »2« گزينة - 116

  نكتة مهم درسي:

   است. »دير كردن«ي معنا به ”run late“عبارت 
 )مكالمه(

----------------------------------------------  

 )عبدالرشيد شفيعي(  »3« گزينة - 117

  نكتة مهم درسي:

   است. »موي خود را مرتب كردن«ي معنا به ”do one’s hair“عبارت 
 )مكالمه(

----------------------------------------------  

 )بهرام دستگيري(  »4« ةگزين - 118

  هم رفته ي) رو2  يافته پايان) 1

  ) اصلا4ً  و چيزهاي ديگر) 3

 )مكالمه(

----------------------------------------------  

 )بهرام دستگيري(  »2« ةگزين - 119

  خلاص شدن چيزياز دست ) 2  از ) بيرون آمدن1

  با) برخورد كردن 4  ، تمام كردن) تمام شدن3

 )مكالمه(

 ----------------------------------------------  

 )بهرام دستگيري(   »4« ةگزين - 120

  ) دور انداختن2  ) ترك كردن1

  ، پس بردن) پس دادن4  پذيرفتن، دربرگرفتن) 3

 )مكالمه(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  - 121
  نكتة مهم درسي:

» اام ـ«ي معنـا  به ”but“فهوم جمله، بايد از حرف ربط با توجه به وجود تضاد در م

  استفاده كرد.

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  - 122
  نكتة مهم درسي:

در ادامة جمله، در جاي خالي نيز بايد از صفت  ”the better“با توجه به ساختار 

  برتري استفاده كرد.

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  - 123
  نكتة مهم درسي:

ي معنـا  بـه  ”practice“بـراي فعـل   » فريـب «ي معنـا  به ”deception“نقش اسم 

مفعولي است، پس در جاي خالي نياز بـه سـاختار مجهـول داريـم (رد     » انجام دادن«

داريم كـه در  » كه«ز سوي ديگر، در جاي خالي نياز به مفهوم ا»). 3و  1«ي ها گزينه

  »).  2«شده وجود دارد (رد گزينة  وارة وصفي كوتاه در قالب يك جمله» 4«گزينة 

 )كلوزتست(

----------------------------------------------  
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  )اله استيري رحمت(  »1«گزينة  - 124
  طور گسترده ) به2  ندرت ) به1

  طور ناگهاني ه) ب4  ) دائما3ً

  نكتة مهم درسي:
با توجه به ادامة جمله، در جاي خالي بايد از قيدي استفاده كنيم كه مفهوم منفي 

  .باشد  داشته
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  - 125
  ) باوركردني، معقول2  اغماض ) قابل1

  لحم ) قابل4  ) متمايز3
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  - 126
  نكتة مهم درسي:

» يـافتن «ي معنـا  بـه  ”find“ي جمله، در جاي خالي بايد از فعل معنا  بهبا توجه 
از »). 3«(رد گزينـة  » بنيـان نهـادن  «ي معنـا  به ”found“نه فعل  ،استفاده كنيم
مفعولي است، پس در جاي  ”find“براي فعل  ”caterpillar“ش سوي ديگر، نق

  »).4و  1«ي ها گزينهخالي نياز به ساختار مجهول داريم (رد 
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  - 127
  نكتة مهم درسي:

  استفاده كنيم. ”to“بايد از مصدر با  ،براي بيان هدف از انجام كاري
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  - 128
  ) مصرف كردن2  ) تبديل كردن1

  ) تهديد كردن4  ) كاهش دادن3
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  - 129
  ) نفوذ كردن2  ) افزايش دادن1

  تظاهر كردن، وانمود كردن) 4  ) توضيح دادن، با مثال روشن كردن3

  نكتة مهم درسي:
  دقت كنيد.» حالت گرفتن«ي معنا به ”assume a pose“به تركيب واژگاني 

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  - 130
  نكتة مهم درسي:

  صحيح است.» 1«تنها گزينة ، ”… range from … to“با توجه به ساختار 
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  - 131
  نكتة مهم درسي:

را منتقل كند كـه تنهـا در   » كه«در جاي خالي نياز به ساختاري داريم كه مفهوم 
  شده وجود دارد. وتاهوارة موصولي ك و در قالب جمله» 2«گزينة 

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  - 132
  نكتة مهم درسي:

و  ”where“صـورت   داريـم كـه بـه   » كـه  جايي«در جاي خالي نياز به مفهوم 
“in which” توان آن را بيان كرد.  مي  

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  - 133
  ) حدود، محدوده2  ) وضعيت1

  ) شكار4  ، چيزء) شي3
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  - 134
  ) ناپديد شدن2  ) ياد گرفتن1

  ) فرار كردن4  ) لذت بردن3
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  - 135
  نكتة مهم درسي:

توان از زمان گذشـته اسـتفاده كـرد (رد     ميبا توجه به زمان ساير افعال در متن، ن
شـبيه  «ي معنـا  به ”resemble“همچنين، فاعل براي فعل »). 3و  1«ي ها گزينه
  صحيح است. » 4«نتيجه، تنها گزينة باشد. در  ”foliage“تواند  ميقطعاً ن» بودن

 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  - 136
  »كند؟ ميموضوعي بحث   دربارة چه عمدتاًمتن «ترجمة جمله: 

  »داري موادنگه خنكتوسعة فرايند «
 )درك مطلب(

----------------------------------------------  
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 8 ةصفح  منحصراً زباناختصاصي   فروردين 7 آزمون -»6«پروژة 

  )اله استيري رحمت(  »2«گزينة  - 137
زماني بخشـي از زبـان در ايـالات     چه» يخچال« واژةبراساس متن، «ترجمة جمله: 
  »متحده شد؟

  »1850زماني قبل از سال «
 )درك مطلب(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  - 138
  »…زيرا  ،كند مياشاره » 1«در پاراگراف نويسنده به ماهي «ترجمة جمله: 

  ».كنندگان تجاري يخ بودند تاجران ماهي جزو اولين مصرف«
 )درك مطلب(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  - 139
  »به ... اشاره دارد.» 1«در پاراگراف  ”it“كلمة «ترجمة جمله: 

  »يخ«
 )درك مطلب(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  - 140
يك از موارد زير مانعي بر سـر توسـعة يخچـال     براساس متن، كدام«ترجمة جمله: 

  »بود؟
  »از فيزيكدانش ناكافي «

 )درك مطلب(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  - 141
از » 2«در پـاراگراف  (ابتدايي، آغـازين)   ”rudimentary“كلمة «ترجمة جمله: 

  »ترين است. نظر معنايي به ... نزديك
»“undeveloped” )نيافته توسعه(«  

 )درك مطلب(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  - 142
  »… آل ، يخچال ايده»2«در پاراگراف براساس اطلاعات موجود «ترجمة جمله: 

  ».ذوب شود  ميآرا دهد كه يخ به مياجازه «
 )درك مطلب(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  - 143
كند  مينويسنده [اقدامات] توماس مور را در مسير درست توصيف «ترجمة جمله: 

  »…تا نشان دهد كه 
  ».آميز بود طراحي مور نسبتاً موفقيت«

 )درك مطلب(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  - 144
  »…داد تا را براساس متن، يخچال مور به او اين اجازه «ترجمة جمله: 

  ».اش بگيرد پول بيشتري بابت كره«
 )درك مطلب(

 ----------------------------------------------  

 (مسعود پيربداقي)  »3«گزينة  - 145

  »كند؟ متن عمدتاً در چه موردي بحث مي«جمله:  ةترجم
  »پژوهشي ةعنوان يك رشت باليني به ةمراحل پيشرفت علم تغذي«

 )درك مطلب(

----------------------------------------------  

 )مسعود پيربداقي(  »2«گزينة  - 146

شود كـه مـدارس پزشـكي شـروع بـه       گونه برداشت مي ن ايناز مت«جمله:  ةترجم
   »…آموزش مفاهيم تغذيه كردند تا 

  »كار ببرند. درمان بيماري به پزشكان را تشويق كنند مفاهيم تغذيه را در«
 )درك مطلب(

----------------------------------------------  

 )مسعود پيربداقي(  »2«گزينة  - 147

ترين  نزديك »2«پاراگراف انگيز) در  (وسوسه ”tempting“ ةكلم«جمله:  ةترجم
  »دارد. … معني را به

»“attractive” (جذاب)«  
 )درك مطلب(

----------------------------------------------  

 )مسعود پيربداقي(  »4«گزينة  - 148

  »اشاره دارد.… به »2«پاراگراف در  ”them“ضمير «جمله:  ةترجم
»“vitamins” ها) (ويتامين«  

 )درك مطلب(

----------------------------------------------  

 )مسعود پيربداقي(  »4«گزينة  - 149

شـروع بـه از دسـت دادن     1950 ةدرمـاني در ده ـ  چـرا ويتـامين  «جملـه:   ةترجم
  »كرد؟ ]خود[محبوبيت 

  »شده قلمداد شدند. درماني، اغراق ادعاهاي مبني بر تأثيرگذاري ويتامين«
 )درك مطلب(

----------------------------------------------  

  اله استيري) (رحمت  »2«گزينة  - 150
  »كند. يدر متن احتمالاً در مورد ... بحث م يبعد پاراگراف«جمله:  ةترجم

  »هيعلم تغذ ةخچيتار ةدور نچهارمي«
 )درك مطلب(

----------------------------------------------  
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